Surface albedo (%)
& 2
& 2
T T
I !

T
|

L 1 L

0
Latitude

Planetary albedo (%)
38
T

0
Latitude

High Cloud (%)

1

50

clhcalipsozon

0
Latitude

LMDZ High Cloud (%)

L L L

60

LMDZ Low Cloud (%)
£
&

L

L
50

50 0 50 50 o 50 o 50
Latitude Latitude Latitude
clhzon cllcalipsozon cllzon
\y\ T T T T
_ 30 g0 B E 60 =
3 5 g
S 2 E <40 -
é E' 20 g‘:“
= 1 g E 20 -1
Il 0 Il 1 L L 1 Il
-50 0 50 -50 0 50 -50 o 50
Latitude Latitude Latitude
clmcalipsozon clmzon crelszon
70 T T
60— —
E z H
gs g g
-0 75‘0 \‘) s‘o 50 le 50 -1oo ,s‘u rl.\ 50
Latitude Latitude Latitude
creltzon cresszon crestzon
T T T 150l T T ]
E—, : Q20 -
g 5 5
E ; 40 g sor ]
H £ 3
-60
1 1 L L 1 0 Il Il 1
-50 0 50 -50 0 50 -50 0 50
Latitude Latitude Latitude
cretszon crettzon hflszon
- -
&8 100 - a
E g
B z €
io B H E
L L L L 1 /J L 1 L 60 L L L
-50 0 50 -50 0 50 -50 o 50
Latitude Latitude Latitude
hinszon hfsszon hurszon



T T 2 T
& 50— - 10
\E‘) };‘ ;:: 1020
2l 1 L £
5 £ ]
k] = 7z
s 30l - £ 6 £
3 = 1ooo
i : F
= 10f 2 “
L L L 0 1 | | 1 |
=50 0 50 -50 o -50 0 50
Latitude Latitude Latitude
prwzon przon pslzon
~ h T h
a 2
E ~
H H g
g K :
3 3 0 g -oor
: ool k|
3 E
B Z % 10r
: H H
< H 140
I I L 0 L 1 | L
-50 0 50 -50 0 -50 0 50
Latitude Latitude Latitude
rahcrezon rahcszon rahzon
60 T T T
g 40— — § -100 . -100
2 5
3 i B
g 3 S
4 U is0 2 s
E g z
z T
z :
] Z H
2 g -200 -200
Z
| 1 Il L 1 L
-50 0 50 -50 0 50
Latitude Latitude
rlahcrezon rlahcszon rlahzon
T T T T T OBS 500
400 |- - 400
4 ] H
b 8 500
H 200 H 200 '-z; .
E 3 H
8 A Z 0
Il 1 Il Il 1 Il Il 1 Il
% 0 % % 0 % % 0 %
Latitude Latitude Latitude
rldscszon rldszon rluszon
T
- g
q z
E 250 S £
z a 2
= £ [}
=] z z
< 200 - 4
= =) T
2 E z
4 z
g .
150 ;E
L 1 L L 1 L Il 1 Il
50 0 50 -50 0 50 =50 0 50
Latitude Latitude Latitude
rlutcszon rsahcrezon
. T T T T
E 100 & 300
= £
S z
(o z
i 3 J
5 _5 200
e g
z : J
i g 100
F H
< 0
Il 1 Il Il 1 Il o Il 1 Il = |
-50 0 50 -50 0 50 -50 0 50
Latitude Latitude Latitude
rsahcszon rsdscszon
3 T OBS g% T
— 6A £
— 5B
a — 5A 5 %001
£ 200
H 3
s 3
G ; 2001~
3 z
5 1001 2
z & 100
o 2
7
5
0 I 1 | | 0 I ! I c o I 1 I |
-50 0 50 -50 0 50 -50 0 50

Latitude Latitude Latitude



rsdszon rstszon rsttcszon
200 OBS 150 T
_ — 6A
g o - a
3 150~ ;E ool
E 2001~ 100 g
: :
Z o} ok £or
0 I 1 I E| o | 1 1 1 |
-50 0 50 -50 o 50 -50 0 50
Latitude Latitude Latitude
rst rsuscszon
T T T OBS
5 _ 250~
3 a
3: g 200 (-
3 S
3 £ 150
g S
§ ; 100~
3 H
3 £ S0
a =)
o | 1 I | 0 i 1 1 Il
=50 0 50 -50 0 50 o
Latitude Latitude Latitude
rsutcszon rsutzon rtszon
T 100 = T T

g

Clear Sky Total Radiation TOA (W/m2)

50

0
Latitude

Temperature 2m (C)

=+
o
12}
N
Q
=

0
Latitude

5800

g
g

5200

500hPa geopotential height (m)
5
3

1 L

50

zg500zon

0
Latitude

Total Radiation TOA (W/m2)

SST(C)

Zonal wind stress (N/m2)

1 L

50

tauuzon

0
Latitude

50 0 50
Latitude
sstzon
]
2
2
Z
002 11 1 1
-50 [ 50
Latitude
tauvzon



